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A== M =SXNZH
MNASS SN (MIA=SX/FHLAHASK)
o S SANAHA HAH 2=
- _ — d =
SA BB S(BA) - MM - BES Ol &+ o4 e
e 265,447
Al 192,875
T 72,572
11T MISXAS EX 530,894 530,894
N&Est A 290,288
2)ANZEOC CHOtXIZE MUl
108,692, 000& 108,692
s 54,346
Al 27,173
- 27,173
2)0ts - Had delXE Mula
112,824,000& 112,824
s 56,412
Al 28,206
- 28,206
2)0ls - HA4H INLLEXNA MHlA
68,772,000 68,772
s 34,386
Al 17,193
- 17,193
DAY AL 240,606
2)LolgEE 235 MY MHlA  34,354,0009 34,354
s 17,177
Al 17,177
2)ZFAAY EEHA MBIA  112,826,0009 112,826
s 56,413
Al 56,413
2)Z0Hel EXD|0| dEMEIA  6,820,0009 6,820
s 3,410
Al 3,410
2)8 R0t LEXNA MU~ 26,094,000 26,094
s 13,047
Al 13,047
2)0ts - HAE HIMEH X2AMEIA
60,512,000& 60,512
as 30,256
Al 30,256
Mol 2= 22l 3,000 3,000
01 LBH2 S Hl 1,500 1,500
01 At 22l 1,500 1,500
1) B2l 1,500
)M S S8 P L dtd L8 S 1,500
J2EME 200,000 x3& 600
J)FHOZ S 300,000& 300
Jes= 200,000& »3CH 600
302 OI=LTHoH E&F = 1,500 1,500
02 QIZHITHOH R EFR &S 2L S 1,500 1,500




D EXE= SN =XEY)

HNASE E2XNST(MIEX/FSHEXH)
Mol B4 SNHEIA A 25 CEEEED
I SN Y. B () NEAY - BAS 0 AF o il HDS2
NS &Sl 1,500,000& 1,500
NEAE2EHEAN 2 115,415 118,866 N 3,451
201 et A H| 8,470 9,142 NBT2
01 AFR2t2l Yl 8,470 9,142 NBT2
nNegdasy 7,840
2)HNEEOM 3o Each
70,000& *22H 23| *80% 2,464
2)AREOIM 3o EaALch
70,0003 *16H *63] *80% 5,376
1) Bt 2| 630
)Y /A=EHE M 7,000 x60H 420
2IMBIEX K2 E&2 M
7,000& x30 210
203 g R =&Y| 3,600 3,600 0
03 Al =X H 2 =X Y| 3,600 3,600 0
1)7-5 oM g2 100,000& x6& 600
1S oM &34 ¢ 2t€3d X
50,000& x6& x10= 3,000
307 212t01 & 103,345 106, 124 N2,779
10 Al SXAIEEE2IHIEX 50,145 47,924 2,221
DDA EEEAM AIR=2 29 50,145
)8 & AR olAH| 45,445
RIPIE=E=! 2,933,200& x12& 35,199
MM =< 100,000& *12& 1,200
A2 Z R 11,3662 *10Al 2tx 122 1,364
NEXZN 924,780&+3, 146,860& 4,072
NAHEE S (AL FEE) 280,000& x12& 3,360
s (29) &Iy 250,000& 250
2)ALR A 2| 2,000,000 2,000
2)AREN 29| 300, 000& *9JH 2 1t 2,700
11 A SXAAEE X 53,200 58,200 5,000
NASI X SALX F2H235 41,200
2)7-= oM uUs 7,200,000& 7,200
2)/3As 13,000,000& 13,000
2)=2 2 21,000,000& 21,000
NALEI X1 & JIEA(=2Xees)
12,000,000& 12,000
A EXAIE 2 2,577,870 2,399, 106 178,764
Al 2,149,887
- 427,983
S EX2 2Y 2,371,140 2,214,406 156,734
Al 2,061,522
- 309,618
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HH: HASE 2XNST(AIEXN/FHSAHASKH)
Sl A= XA 29 CERED
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
203 R F & 800 800 0
03 AIZH =X 2= X H| 800 800 0
DAL S X AIE 22 24 200,000 x4 3| 800
307 gizto| A 2,100,354 2,021,878 78,476
Al 1,899,528
- 200,826
10 A SAANEEESIGHEX 2,100,354 2,021,878 78,476
NESZE A 2R 2 1,089,594 ,000& 1,089,594
Al 989, 181
- 100,413
N2dSFeSe A =2X 2 1,010,760,000& 1,010,760
Al 910,347
- 100,413
402 SI2FXHE0| & 269,986 191,728 78,258
Al 161,994
- 107,992
03 212t EF AN HI 269,986 191,728 78,258
NEESAMIERN2 JsEL 269,986
2)BYSE A X2 211,092,000& 211,092
Al 126,657
- 84,435
)2 FelSE AT =X 2 58,894,000 58,894
Al 35,337
- 23,557
SIZCHIN3A 29 206,730 184,700 22,030
Al 88,365
3 118,365
307 QI2t0| ™ 182,730 183,500 ANT70
Al 76,365
3 106,365
10 A SEXNAEEHE2IGH EX 182,730 183,500 ANTT70
N2EZSHWI0I3 29| 182,730,000 182,730
Al 76,365
- 106,365
402 SI2FXHE0| & 24,000 1,200 22,800
Al 12,000
- 12,000
03 QI 2t EF A HI 24,000 1,200 22,800
DNZECHWIANE JsB2 (M) 24,000
Q)2 R2ZECew g3 24,000,000 24,000
Al 12,000
- 12,000
SXNAMEA AEHA WA 1,067,502 320,606 746,896
Al 769,752
- 297,750
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SXNAHA BEHA WA )
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St Mot 2EE SXNEEHA L 59,128 69,792 AN 10,664
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2Q)2dSdHI| E2CEST L ==
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2Q)2XNE 9N, ARE, EE2XHI
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02 332 H| 15,088 13,752 1,336
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2Q)2XNERE SUHE MEB
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2)US HAZE S J|J| AEB
13,000& x 160 12& 2,496
2)ERS-UNIHIY BB
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03 &AL EH| 7,440 5,440 2,000
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2) 2 A2 360, 000& *43] 1,440
NS A 43 W] 6,000,000 6,000
203 ¥R =&H| 25,200 27,600 AN2,400
03 A =X R =XH| 25,200 27,600 AN 2,400
1NEOIIE SF0HE gRE9 A
100,000& =128 1,200
NEOIIE SF0MH 29 =12 22,800
2)BBYR HEYD S 29
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NS LSO =& 100,000 123 1,200
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NES(ASES) M 8,000& =154 120
JNEEE Y& M 15,000 x20H 300
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Al 26,460
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28=X 1,991,004 1,991,164 A 160
= 994,782
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SA BB S(BA) - MM - BES e
- 3,000
SRl Abci 2 el Ab 84,000 84,000
= 42,000
Al 21,000
- 21,000
201 LB-2d| 42,000 37,240
= 21,000
Al 10,500
- 10,500
01 At 22l 30,400 30,800
1) B2l 30,000
2)8 Atelzel 2gH 3,000,000& x10= 30,000
= 15,000
Al 7,500
T 7,500
nNeg=s¢ 400
2)&2 839 Mg 200,000& »x2H 400
= 200
Al 100
- 100
03 A2 Z Hl 11,600 6,440
NelZAtg el n| 360,000 43 1,440
= 720
Al 360
- 360
DA 22 38 5,000,000 5,000
= 2,500
Al 1,250
- 1,250
DAtell2tel =, 203, 39 Chityl 5,160
2)S Atell&el Chatdl 400,000& x10= 4,000
= 2,000
Al 1,000
- 1,000
2)7 - SEZ AtdiZel ol
116,000& =102/ 1,160
= 580
Al 290
- 290
301 LEd = 42,000 46,760
= 21,000
Al 10,500
- 10,500
01 MI2ZE 6= 42,000 42,000
1)S At 2tel tHaX XI&  4,200,0002 105 42,000
= 21,000
Al 10,500
- 10,500




SXtE=
IA6SE SXNSA(AME=SX/FH 24
MNASSE MUIA A & X

% - 4 14
R.RA - ZE-G(HH) - HRA e Hl D= 2t
M=K SEAe 22l A X 37,811 32,564 5,247
= 17,223
Al 8,611
- 11,977
101 @14 dl 37,811 32,564 5,247
= 17,223
Al 8,611
- 11,977
04 JIZHHZ2XREES 37,811 32,564 5,247
nles 25,215
2123 2,050,000& »1H » 24,600
= 12,300
Al 6,150
- 6,150
2)0l &z 51,2503 x 18 128 615
= 307
Al 154
- 154
NEZ 0 120,000& 1H 122 1,440
2 720
Al 360
- 360
DAt =< 140,000 x 1H x 123 1,680
= 840
Al 420
- 420
NIls&da=2 (M=) 20,0002 *1H 128 240
NEEF Ot 2,101,250 x60%* 1 »23| 2,522
N2A2 2 & 200,000& x 18«13 200
1) 018 Al
(2,101,250 & /2091 2F*BAl 2H) x5 + 1 403
DEEELEI S 31,698,660& *1/12 2,642
= 1,322
Al 660
T 660
N4HEE = 3,469
= 1,734
Al 867
- 868
I 2E AR 2el(ME=X/2E) 870,560 791,935 78,625
=t B2HAX W< 870,560 791,935 78,625
LictAtE E2Cd XI& 147,900 169,900 A 22,000
203 YR =2l 1,000 1,000 0
REEEEEES 1,000 1,000 0
NEECHH X d2Fd 250,000& *43| 1,000
307 21201 A 146,900 133,900 13,000
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neg=s¢ 600
D)FOULSKRY L MBAFI|Z SIS
SN 100,000 x6H 13| 600
501 X3 293,000 460,000 A 167,000
01 2ItEX2 293,000 460,000 A 167,000
NFUASKE & MEETZ X 293,000
2)ZBIAS X 2 (3F B0l 5H)
30,000,000& x1H 30,000
D) MBS B (2F A0
20,000,000& »x1H 20,000
2)ES0Z¢W UEE ZZAEFTH B2 8
At 12,150,000& 20H 243,000
HY2IZH (SXXIJAD)(INEH/IIEH) 251,132 253,600 A2,468
= 34,805
Al 34,805
- 181,522
clERIH(9 2303 SE3AH) 82,492 77,548 4,944
= 34,805
Al 34,805
- 12,882
clEegyl (23002 SHaH) 82,492 77,548 4,944
2 34,805
Al 34,805
- 12,882
101 @124l 82,492 77,548 4,944
= 34,805
Al 34,805
- 12,882
03 I AHA2Z 2 HE > 82,492 77,548 4,944
Nalzz= 0l &2l A el 82,492
2)C1 A (UL AMZELE)
2,195,000 x2H x12& 52,680
= 26,340
Al 26,340
Q) EIXZHEY = 201,000 »2H «12& 4,824
= 2,412
Al 2,412
2428 = 335,0173 2P 128 8,063
= 2,705
Al 2,705
T 2,653
2)A 2t ¢ 15,500 x18Al 2t+x2H x 12& 6,696
= 3,348
Al 3,348
2)EE &It 2,195,000& *60%*2H »23| 5,268
2)e1 0t At
2,195,000 /209A1 2H*8AI 2t * 10 x2H 1,681
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A= SXHE= FM SXXE D
M HHE2HAH (XX D) (IEHIIE)
Cel: Y (A= 20II2 SEEH) (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
2)tE+¢ 60,000 x2H » 122 1,440
2))ls&eds¢ 20,0003 x2H 128 480
)R8+ 40,0003 »2H =128 960
2)A1 22 & 200,000& x2H +13] 400
Jl23&dl 168,640 176,052 AT,412
Jl2zl 168,640 176,052 AT,412
201 Let24d]| 66,712 74,124 AT, 412
01 At 2teltl 66,712 74,124 AT,412
1) Bt =] 4,504
2)LBHAIR 8 E 4| 7,000 «36 9 » 122 «90% 2,722
)M AR E 1,782
3) =S ALKl (A4) 55,0003 *36 % *90% 1,782
1)=&l 62,208
2= S2ZY
8,000& x204! x36 H x 12& *90% 62,208
202 4l 96,768 96,768 0
01 = LH 4 Hi 96,768 96,768 0
N2ge=8 0t
280,000 *36H «12& *80% 96,768
203 YR =&t 5,160 5,160 0
04 FANSEY =L 5,160 5,160 0
NEMSZYREIH 430,000& 123 5,160
MHRES(SXX) (MBS /IZHEEE) 12,882 9,988 2,894
HEHHXZ 12,882 9,988 2,894
2SI SEIAN dE 12,882 9,988 2,894
701 JIEtI HEEES 12,882 9,988 2,894
01 JIEtel HE &= 12,882 9,988 2,894
NA230JI=SgsH d&E(22HH BH)
12,882,000& 12,882
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> A
A & 0l & AF 2 E A A
20219 =20l & LA IIEISESH SXNIHE= ~ SAIHE=
a3z SRIEZ 2M A F0HI Dt
FH: LA=SXSA(AMSSX /=0 - Had)
el LolME OFF CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
2 A Z0H !t 123,095,828 111,931,693 11,164,135
= 76,877,865
Al 23,047,284
- 23,170,679
COASRNSE(AS=EX /0l - HAH) 100,846,897 91,678, 146 9,168,751
= 68,624,954
Al 14,092,388
- 18,129,555
ColME oy 91,360,732 83,236,219 8,124,513
= 67,836,876
Al 11,732,732
- 11,791,124
=3 Xa 81,139,090 72,219,859 8,919,231
= 64,910,912
Al 8,113,864
- 8,114,314
201 et 450 450 0
01 At 2teltl 450 450 0
1) Bt =] 450
2)el2% S 822 MU 150& *3, 000 0K 450
301 LA F 81,138,640 72,219,409 8,919,231
= 64,910,912
Al 8,113,864
T 8,113,864
01 MEIBE X263 81,138,640 72,219,409 8,919,231
NI=ce13 = 81,138,640,000& 81,138,640
= 64,910,912
Al 8,113,864
- 8,113,864
F=0Z2 N E==ot=2 N=2 39,000 0 39,000
301 LA F 39,000 0 39,000
01 MI28E 6= 39,000 0 39,000
NE==5t32 = 1,000,000& «39H 39,000
Colgitel Y AMSIESKE A (LX) 9,756,074 10,159,270 A 403,196
= 2,925,964
Al 3,413,625
T 3,416,485
201 Let24E] 1,860 1,700 160
01 At 2t 2l 1,860 1,700 160
1) B2l 1,860
2)EEs 0 100,000& =124 1,200
2)E88i4 55,000 » 124 660
203 YR =2t 1,000 1,000 0
03 A FXH S =AY 1,000 1,000 0
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a3z SRIEZ 2M A F0HI Dt
FH: LA=SXSA(AMSSX /=0 - Had)
el LolME OFF CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
Neoldxiel & ASSSXAAMNY RFE
1,000,000 1,000
307 glz2tol & 9,753,214 10,156,570 A 403,356
= 2,925,964
Al 3,413,625
- 3,413,625
11T M SXAISE EX 9,753,214 10,156,570 A 403,356
Neoldxiel & A 2SS XA
9,753,214,000& 9,753,214
= 2,925,964
Al 3,413,625
T 3,413,625
coraltel & At E2SXEAE F8I=0t 48,600 48,600 0
307 gl2tol & 48,600 48,600 0
11 AL S XAEE = 48,600 48,600 0
NZ2Y SN0 MY 2g K&
270,000& x180H 13 48,600
SdAMLIOZYE 29 377,968 808,490 A 430,522
Al 205,243
- 172,725
201 Let24d] 10,096 5,490 4,606
01 At 22/l 10,096 5,490 4,606
Ngx= 7,896
2)2FALIGZEE M2H dUE
658,000& »12& 7,896
1)J1Et 2,200
2)0IAF HI 2,200,000& 2,200
203 YR =&l 1,000 1,000 0
03 AIHF=XH R =AH| 1,000 1,000 0
NaFEAUNSY 29 XN 2=
1,000, 000& 1,000
307 gl2tol & 346,872 342,000 4,872
Al 205,243
- 141,629
05 Rzt E = 346,872 342,000 4,872
NadAUE2E 29 342,072,000& 342,072
Al 205,243
- 136,829
NSEALUHSE AIR4 22|
400,000& x12& 4,800
401 Al HIZ 201 8] 15,000 60,000 A 45,000
01 A& HI 15,000 60,000 A 45,000
NaFALUNESY 222 15,000,000& 15,000
405 XtatE SHI 5,000 0 5,000
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a3z SRIEZ 2M A F0HI Dt
Ha: CSKST(MESR/C0 - BAW)
& LoSX MEA W3 (&)
- _ — d =
RRA B BN NRAY - BES 0l &k o4 e HlnE2
Neonsd WsHl XN (=elXg)
100,000& = 18H 1,800
401 Al HIZ 201 I 5,000 0 5,000
01 A& HI 5,000 0 5,000
NEelXa 0l™ ArR4A 2/2ea  5,000,0009 5,000
405 RHoHE S HI 22,500 0 22,500
01 AL ESH SH 22,500 0 22,500
NEoX3 0ld AFR4A HIE 22
22,500,000& 22,500
Lo EESESAMUIA ALY 1,556,720 1,368,900 187,820
= 777,550
Al 388,775
T 390,395
203 YR =& 1,620 1,620 0
03 Al F=XH R =AY 1,620 1,620 0
NHza=sI g2FA 135,000& =123/ 1,620
307 21201 A 1,555,100 1,367,280 187,820
= 777,550
Al 388,775
- 388,775
11T AL SXAEE = 1,555,100 1,367,280 187,820
NtodsssHMU A AY 1,555,100, 000& 1,555,100
= 777,550
Al 388,775
T 388,775
NESMot2el At 29 122,227 89,704 32,523
Al 122,227
101 14 Hl 121,647 88,624 33,023
Al 121,647
04 JIZHHZ22XRHEE S 121,647 88,624 33,023
DASTHItZel At 212 121,647
2123 22,585,000& »2H 45,170
Al 45,170
2)& 03 3,293,500& »2H 6,587
Al 6,587
2)EE SOt 100,000 »2H »23| 400
Al 400
2) Ot At 11,5993 +7 . 5AI 2t+2H 102 1,740
Al 1,740
2)EI =X IS At
11,5993 +7 .5 Al 2b* 12 %252 2,175
Al 2,175
2)8 XAl 60,0003 »x2H 120
Al 120
2) M & 2 50,000& x2H 100
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R PEE SAH o2 aEMe
M LA=SXSA(AMI=EX/ =0 - )
o2l Lo =X MBlIA M3 )
2. 2A B E(AN) - MEAY - BYS 0l &t o8 il HlnE2
Al 100
2)3 = Abbl 20,0002 x2H 40
Al 40
2)0l & & S 30,0003 x2H 60
Al 60
2)A 50,0003 x2H 128 1,200
Al 1,200
2) sl 50,0003 x2F x 123 1,200
Al 1,200
2JAUBE = 3,007,500 »2H 6,015
Al 6,015
2)E1X3 56,840,000 56,840
Al 56,840
201 £B-2d | 460 900 A 440
Al 460
01 At 22l 100 150 A50
1) Bt S| 100
2)EIX X 1€ 3l 100,000& *1H 100
Al 100
02 8323l 360 720 A 360
Na323 2 HMA 360
2)M SO 22l AL A 360
N2 10,000& = 12& 120
Al 120
MGt E=R23 20,0003 x6& 120
Al 120
NZAINARS 10,000& =128 120
Al 120
203 H R =&l 120 180 A 60
Al 120
03 Al =X A2 =& 120 180 AB0
NDASMIt2el A 29 =&
30,000& x2H *23| 120
Al 120
Lol 2EgA 1,367,173 1,076,684 290,489
Al 1,243,538
- 123,635
307 21240 1,367,173 1,076,684 290,489
Al 1,243,538
- 123,635
11 AS S XAEE = 1,367,173 1,076,684 290,489
NIzAYg 29 803,303
2)g et 3,500& +313 »715H 783,283
Al 783,283
2)S A 4,0003+73]x715H 20,020
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o= A== M H2AZEHS
SRS ISXSH (A SR/ 0l - HAH)
= OISXl MHIA M2 )
- _ — d =
SN BAGIA) - HRAY - BES 0l &t o e 2
Al 20,020
DAA BHE 280,683
2) gt 3,500 *365 x215H 274,663
Al 274,663
2)E4 4,0003+73]x215H 6,020
Al 6,020
LR Bie 81,696
2) et 4,000 *104 x184H 76,544
Al 76,544
2)E A 4,0003+73] 184 5,152
Al 5,152
NS&I =K 7,615
2)hg, wWeEdl 7,615,000 7,615
Al 7,615
Nl 2,000,000 *40H 2 8,000
Al 8,000
)G A Q12| 1,728,920 x5H 123 103,736
Al 62,241
- 41,495
NZ2lS AR 2124
1,396,930 »70%+7H 128 82,140
PSR AL LXtel AL (FRIEN) 20,000 20,000
307 21201 A 20,000 20,000
11T MISRASEX 20,000 20,000
NOtSZ A X2l Y 2% 20,000,000 20,000
Ot2 ZMALLIOI (=21 &) 15,000 15,000
307 21201 A 15,000 15,000
11T ALS S XA E = 15,000 15,000
NS0t AWMAMLO0 T2 29
15,000, 000& 15,000
2 SASSH-=SXISH(F2UEA) 20,000 20,000
307 21201 A 20,000 20,000
11T M3 SXASEEX 20,000 20,000
NEXJIst T2 29 20,000,000& 20,000
aA0 EE(FUEA) 12,000 12,000
307 gl2tol & 12,000 12,000
11 ALS S RALEE = 12,000 12,000
NaAo g5 T2 29 12,000, 000& 12,000
Ad=0248 T2 's520/Z ' (FAUE) 7,000 7,000
307 izl & 7,000 7,000
11T MISXASEX 7,000 7,000
8320l T2 29 7,000,000& 7,000
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M ox
40 5 4

|
[AlE X1& & 2tel

(MBI =X/ 0l -

=PNED

SH-EB .S (3H) - MEAY - BAS 0 AF o il HDS2
NEJela N8 JNTHE SL=a
50,000& =103l 500
301 deEtE2dZ 2,400 2,400 0
09 HALAHIXI &= 2,400 2,400 0
N9 2= X AIE oA X2 0] 2,400
)gs+d 50,000& *8H x6 3] 2,400
308 AHXI S M SO0l & 2,817,774 2,261,390 556,384
07 HXHN2AESLZ 2,817,774 2,261,390 556,384
NEQEIQLUYEE MI20
4,943,462 ,316 &3 *57% 2,817,774
HME0EHAMNEYH 2H (MO 754,416 996, 090 N241,674
Al 350,000
- 404,416
201 LEt2 Y| 5,464 29,000 AN 23,536
01 AR 22| I 5,464 29,000 N 23,536
1)L et 2| 5,464
)L &40 80, 000& * 15 x23] 2,400
2)EE Y 55,000& 120 x4 3| 2,640
Q)4 ATEY N P 212,000 =24 424
203 R =&Y| 1,500 1,500 0
03 Al =X H R =X Y| 1,500 1,500 0
1)2E0EHAMHE 29 23 g2
125,000& = 12& 1,500
307 212t0| & 700,000 706,213 N6,213
Al 350,000
- 350,000
05 A2t &= 700,000 706,213 N6,213
1)2E0EHAME 2Y 700,000,000& 700,000
Al 350,000
- 350,000
401 Al HIL 201 8,910 19,377 AN 10,467
01 A& HI 8,910 19,377 AN 10,467
NAELL & ZA 8,910,000& 8,910
405 XHo&HF S I 38,542 240,000 N 201,458
01 AL =S EF SHI 38,542 240,000 A 201,458
NS 502 AMEH HE 2L 38,542,000& 38,542
AN =2EXHH 29 218,553 161,336 57,217
307 QI2t0| M 193,118 100,000 93,118
05 A2t &= 193,118 100,000 93,118
NHEAEXHEH 29 193,118,000 193,118
405 XHabF SHI 25,435 60,336 A 34,901
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a3z SRIEZ 2M A F0HI Dt
HH: LN BN (A =X/l - BAE)
el ASXAIE X8 2 2l (&)
- _ — d =
CRN I S(EH) - HRAY - BYS 0l &k o4 e HlnE2
2)2gtl 410,000 770 & +123 378,840
Al 166,320
- 212,520
2)NLE 22 24|
100, 000& *320H A~ 128 38,400
Al 19,200
- 19,200
2) e 30,0003 *4201 A 2 2,520
405 XHoHF S HI 20,000 23,200 A 3,200
01 At ESFH S 20,000 23,200 A 3,200
NZ22¢ 28 & 20,000
2)7gdzYg 2SN (ENME S)
1,000, 000 204 2 20,000
22" S8 ¢ - ugd s N2 105,280 104,840 440
= 10,528
Al 56,851
T 37,901
307 eI+l & 105,280 104,840 440
= 10,528
Al 56,851
T 37,901
10 ALSISXAIEEE2EH EX 105,280 104,840 440
Ndzg sgudd Ud
300,000& #420H A~ +53 63,000
= 6,300
Al 34,020
T 22,680
Ndzg sguddl N
100, 000& »420H 2~ 23 8,400
= 840
Al 4,536
- 3,024
NZ22Y 234l A& 55,0002 «77H L +8ZE 4 33,880
= 3,388
Al 18,295
- 12,197
J2Y 2435 A Y 60,580 55,151 5,429
Al 12,745
- 47,835
201 Let24dH] 27,360 27,360 0
03 &AH2 S HI 27,360 27,360 0
NZ2Y 843 2238 29 27,360
)2 A= 30,0003 214 2«8 *4 3| 20,160
2)ME8l S 2,000 «15H x 100 2«6 *4 3] 7,200
203 YR =&l 400 400 0
03 A F=XH R =AY 400 400 0
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o= A== 2M A F0HI Dt
SRS XS (A EX /0 - BAH)
Sl oSXAIA XY o e (B9 ®R)
- _ — d =
SN P SAGEH) - HRAY - BYS 0l &k o4 e HlnE2
NZ2Y 243 g2FA 100, 000& *43| 400
307 21201 A 32,820 27,391 5,429
Al 12,745
T 20,075
11T MISRASEX 32,820 27,391 5,429
NIAZY =3 Z=2 0y 22k 32,820
2)Q1 4l 24,990,240 18 %1.02 25,491
Al 12,745
- 12,746
24 28 25,490,050 *11% 2,804
2)EIAZ 25,490,050 x1/12 2,125
28 g=s2¢ 200,000 x1H «12& 2,400
ColmA X 28,740 28,740 0
201 2et2d]| 5,460 5,460 0
01 At 2teltl 720 720 0
1) Bt =] 720
QDEYNESE S ZERESE 60,0003 x12& 720
02 2324l 4,740 4,740 0
N332= 2 HA 4,740
2)TANINARS 130,000& «12& 1,560
)83 130,000& =122 1,560
)82 30,000& =122 360
2)HYRZ 30,000& 12 360
Qo= =22 150,000 68 900
307 glz2tol & 23,280 23,280 0
11T M SXAISE EX 23,280 23,280 0
Neonay T2 29 23,280
2)7g Lol A 30,0003 x128 «63] x32 &t 6,480
)N oA 200,000& 74 2 +12& 16,800
2lSUl AZXZOI(FOIEO) 10,000 0 10,000
307 glz2+ol & 10,000 0 10,000
11T MISRASEX 10,000 0 10,000
Neelsul A2XB0 2208 2¢
10,000, 000& 10,000
FHoNE =X SH(MSZX/HAHSNL) 22,144,149 19,836,696 2,307,453
= 8,252,911
Al 8,954,896
T 4,936,342
OHQl M&Erd JHd & QIAIHDD 22,144,149 19,836,696 2,307,453
= 8,252,911
Al 8,954,896
T 4,936,342
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a3z SRIEZ EM 2 AEHC
Za: HoNS =X SA(MA=X/HAHSKR)
ol MONOI MEEHY HM L AFHD CER-ED
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
SHZMHLSE=ENZ 29 1,585,644 1,492,946 92,698
Al 1,346,574
- 239,070
307 gl2tol & 1,585,644 1,492,946 92,698
Al 1,346,574
- 239,070
10 AL SXNAIEEE2EH EX 1,585,644 1,492,946 92,698
NSEZMHIBE=SENZ 2 1,579,644,000% 1,579,644
Al 1,346,574
- 233,070
NS2EZMHASE =2 018K HOYSA X
6,000,000& 6,000
S SRNMEH 29 (H2R) 896,700 618,500 278,200
Al 627,000
T 269,700
307 glz2+ol & 896,700 471,000 425,700
Al 627,000
T 269,700
05 RIZIRI &3 896,700 471,000 425,700
NI2FsL=XNLE 2 896,700
2)2dSsE=NMH 29
15,000, 000& *42] 60,000
)LLETHA M WNEHH 23
696,700,000 696,700
Al 627,000
- 69,700
Q)LLTUNAFTAESHEH 2
35,000,000& *43] 140,000
OIS XAE XA 184,978 207,281 A 22,303
Al 65,739
- 119,239
307 21201 A 147,478 128,026 19,452
Al 65,739
- 81,739
10 ALSISXAIEEER2IHEX 147,478 128,026 19,452
N2 As0EH 22 10,000
2)=s0tel&EH 22| 10,000, 000& 10,000
Al 9,000
T 1,000
NEHYSMI=XN2HEH 2 113,478,000& 113,478
Al 56,739
T 56,739
DX MaHdyH 2HH X 24,000,000& 24,000
402 RIZ2EX20l ™ 37,500 13,255 24,245
01 212t X2 Ar 2 2= (REXIXH &) 37,500 13,255 24,245
NEHAXNATHEAE JIsEL 37,500
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=xtE= SA 0 2AFO
FHOUNE =X ZA(MIEX/HAHSX )
ZojOl MEHY N L AAHD

- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Ei HR=2
NEHAESKHA |3 29 300,000& 300
MNAS ZOQ =HXNS ALY 10,880 10,880 0
201 LBt Y| 880 880 0
01 AP 22| d| 880 880 0
1) B2 H| 880
2)EZS XN HMHZ=E HZ2AE SHEx=2
420,000 #2203 840
2)EZSHOHQ HMTE FHAHAE &F © 2A
20,000& »2 A 40
401 Al HI L 2 0HHI 10,000 10,000 0
01 Al&H| 10,000 10,000 0
NHAS ZOHQIIIR &2l 10,000,000& 10,000
S HHO XA 133,000 63,000 70,000
307 2Iz2t0| A 123,000 63,000 60,000
11T A EXAIEEX 123,000 63,000 60,000
NG EXMST2 ]S 2
26,500,000 23| 53,000
NS BAE(HAE) A4 stals st
FLEY 10,000,000& 10,000
DR s2 adf T2 29
15,000,000& =4 3] 60,000
405 XHo&HF S HI 10,000 0 10,000
01 XAt 2 FF S| 10,000 0 10,000
NEC =2 =6 W I3 20 S
10,000,000& 10,000
ZO0H0tsS e THE MHlA 493,800 493,800 0
= 246,900
Al 246,900
307 212t0| & 493,800 493,800 0
= 246,900
Al 246,900
11 A EXAIEE X 493,800 493,800 0
NEHOLS & THE AHIA 493,800,000 493,800
= 246,900
Al 246,900
S 22AE K& 1,920 1,920 0
= 960
Al 960
307 2Iz2to| & 1,920 1,920 0
= 960
Al 960
11T A EXAIEEX 1,920 1,920 0
NG Eojel ERAad 1 1,920,000 1,920
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A= =2XIER FHoEdZH
Za: HoNS =X SA(MA=X/HAHSKR)
ol MONOI MEEHY HM L AFHD EERED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ofl At o %Ei HR=2
= 960
Al 960
SHEE2 XMEH AHLESXAAS 6,480 4,320 2,160
= 3,240
Al 3,240
307 2Iz2t0| A 6,480 4,320 2,160
= 3,240
Al 3,240
11T A EXAIEEX 6,480 4,320 2,160
NEWER A dge X 6,480,000 6,480
= 3,240
Al 3,240
oA Z 4,990,476 4,774,458 216,018
= 2,495,238
Al 1,809,048
- 686, 190
301 dEtE M= 4,990,476 4774 ,458 216,018
= 2,495,238
Al 1,809,048
- 686, 190
01 Al B & A 46 2 4,990,476 4. 774,458 216,018
NEeIAZ X3 4,990,476,000& 4,990,476
= 2,495,238
Al 1,809,048
- 686, 190
Zojel utd 2 xtel XA 1,303,124 1,207,123 96,001
= 328,451
Al 383, 193
- 591,480
101 e1214| 1,302,524 1,206,523 96,001
= 328,451
Al 383, 193
- 590,880
04 JI2ZtHIZ22NEES 1,302,524 1,206,523 96,001
N4 (e124dl, 249H|) 1,094,836,000& 1,094,836
= 328,451
Al 383, 193
- 383, 192
IMEU IS M SC 380,380 x42H x13& 207,688
201 et H9d| 600 600 0
01 AP 2t 2| bl 600 600 0
NHEHZARY] MAISEY 100,000& 4 % 13| 400
NHZAA SEHLG 100,000 12«2 Al 2+ 200
SO AIZEMI L X2l K& 486,479 204,125 282,354
= 122,132
Al 142,488
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AR E2XI0IE=2 2A o 2 AL &)1 1
Za: HoNS =X SA(MA=X/HAHSKR)
ol MONOI MEEHY HM L AFHD CER-ED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Ei HR=2
- 221,859
101 Q121 H] 485,879 204,125 281,754
= 122,132
Al 142,488
- 221,259
04 JI2ZtHIZ22NEE S 485,879 204,125 281,754
124 (e1H4dl, 249H|) 407,108,000& 407,108
= 122,132
Al 142,488
- 142,488
NMEA IS4G 195,460& x31H x13& 78,771
201 LBt 600 0 600
01 AFR2 22| H| 600 0 600
NHEAK AMAISE 100,000 4 X % 13| 400
NHZAMA EALE 100, 000& »1&H «2 Al 2+ 200
ool =X Xel X&A 275,022 228,774 46,248
= 82,507
Al 96,258
- 96,257
307 2I2t0| & 275,022 228,774 46,248
= 82,507
Al 96,258
- 96,257
05 QIZt9 &2 275,022 228,774 46,248
NES(QIAH|, 24H|) 275,022,000 275,022
= 82,507
Al 96,258
- 96,257
oo gsid 20 9,654,980 8,829,270 825,710
= 4,827,490
Al 2,896,494
- 1,930,996
307 gizto| A 9,654,980 8,829,270 825,710
= 4,827,490
Al 2,896,494
- 1,930,996
11T AISIEXAIEEX 9,654,980 8,829,270 825,710
NEHESXZ0 9,654,980,000& 9,654,980
= 4,827,490
Al 2,896,494
- 1,930,996
ZHOHQ DA E2 O 24,828 4,233 20,595
= 12,414
Al 7,448
- 4,966
307 2I2t0| ™ 24,828 4,233 20,595
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AR E2XI0IE=2 2A (RSN PSqRell
Za: HoNS =X SA(MA=X/HAHSKR)
ol MONOI MEEHY HM L AFHD CER-ED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
= 12,414
Al 7,448
- 4,966
11T AISIEXAIEEX 24,828 4,233 20,595
NEZZHMQ SSEX IA20H XS
24,828,000 24,828
= 12,414
Al 7,448
- 4,966
OIS K& AlHIF=OH 1,109,309 088,984 120,325
Al 1,109,309
307 2iz2to| A 1,109,309 988,984 120,325
Al 1,109,309
11T A EXAIEEX 1,109,309 088,984 120,325
NEZSZQ S=SXE AHIFZIAY
1,032,738,000& 1,032,738
Al 1,032,738
1)0F2t=3| &t S A Hl A 76,571,000 76,571
Al 76,571
O E =S A& FHIF=IH 81,460 77,794 3,666
307 QI2t0| & 78,960 75,294 3,666
11T A EXAIEEX 78,960 75,294 3,666
NESZSEHMNC =X FHFIAIY
14,000 *135A1 2+ x2H x 12& 45,360
NS =X F2HIFIIALY
14,0002 *10Al 2tx20H x 12 33,600
308 XAHXIGHHM SO0l & 2,500 2,500 0
11 BI2SHUSEANE AIS Y 2,500 2,500 0
NEXHSRSHAIAE QEFA DY 2,500,000 2,500
SEEe FLHESAHHA 112,158 112,158 0
= 56,079
Al 56,079
307 QI2t0| & 112,158 112,158 0
= 56,079
Al 56,079
11 A EXAIEEX 112,158 112,158 0
NSOl =S AU A 112,158,000 112,158
= 56,079
Al 56,079
LS SNFTEHSAHHA 155,000 48,000 107,000
= 77,500
Al 77,500
307 2iz2to| & 155,000 48,000 107,000
= 77,500
Al 77,500
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M ox
40 5 4

SNBIEE SN 2 AFO
NS =X SR(AS=X/FHAASTEH)
HOHOl MEEH MM L QAAKD

- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
11T A EXAIEEX 155,000 48,000 107,000
eSSt S E S A A
155,000,000 155,000
= 77,500
Al 77,500
Il HOHCIDIZSXJHAE 29 173,612 192,000 18,388
Al 86,666
- 86,946
201 Bt 280 2,000 N1,720
01 AP 22| H| 280 2,000 N 1,720
NR2I4e 280
2)ZOHQIJIE XK HE I 88 AALE
= 70,000 *4H *13] 280
307 gizto| A 173,332 170,000 3,332
Al 86,666
- 86,666
10 MM SAANEEHESIHEX 173,332 170,000 3,332
DNEWCIIIEXNKAMYH 29 173,332,000 173,332
Al 86,666
- 86,666
Sy ey s=Est 2E Qs T Al SHEI|(AQIX]) 72,500 35,000 37,500
307 212t0| ™ 72,500 35,000 37,500
11 A EXAIEE X 72,500 35,000 37,500
NEYgy =28 2EQYE T Al BHED|
72,500,000 72,500
AEStE 2d, MC(E2AUHMAAMAS )AL 15,000 15,000 0
307 QI2t0| & 15,000 15,000 0
11T A EXAIEEX 15,000 15,000 0
1NAEocls 28, MC(ESUHMAAIAS )AL
15,000,000& 15,000
ARED o2l AHR(ZLIEN) 70,000 0 70,000
307 giztol A 70,000 0 70,000
1A EXAIEE X 70,000 0 70,000
NEARED S0 A0 Z20H 29
70,000,000 70,000
HESABH (H2A ORI D) (IIEH/DIE) 104,782 110,832 A 6,050
JlE&d| 104,782 110,832 A 6,050
Jl2 &4l 104,782 110,832 A 6,050
201 £Bt24d| 42,622 47,496 N4, 874
01 AP 22| H| 42,622 47,496 N4 874
1) B2 H| 2,878
2)JI 2 M2 2 EH| 7,000& *23Y *12& *90% 1,739
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= o
A & 0l & AF 2 E A A
20218 = =0l ot LBHSIH  JIEESE3H SXHE= ~ SIS
a3z SRIEZ PN HEEIY
Ha: 28 o 042X SA(ASSX/ES - HEL0L)
el EFAE JsdE (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
&It 0t 68,632,152 73,371,806 A4,739,654
= 14,886,605
J| 145,657
Al 36,243,429
- 17,356,461
28 L =X S (MI=EXN/ES - HELHE) 68,426,453 73,160,378 A4,733,925
= 14,886,605
J| 145,657
Al 36,243,429
- 17,150,762
AL Jlsds 3,217,117 1,993,399 1,223,718
= 24,450
Al 315,906
- 2,876,761
Ogoly &2Me 608,669 852,099 A 243,430
= 16,450
Al 10,625
T 581,594
203 YR =2t 1,200 1,200 0
03 Al =AY R =& 1,200 1,200 0
NOHE0IE S#ZMe Z2F& 100,0009 « 128 1,200
309 HES 6,480 6,480 0
01 SAL- SHINTES 6,480 6,480 0
NIEF A3 &3 6,480
2)FEHEE A TS S
10,000 * 128 «540H A 6,480
401 AIEHI L 2 CHYI 519,289 768,012 N 248,723
01 A& HI 519,289 768,012 A 248,723
NEEFRSNE0E 2 40,000,000& 40,000
NOHE0IE =4y 474,166
2)21e CIAel JHE (30 A) 300,000,000& 300,000
2)FEOUHE0E RAE2(9HL)
174,166, 000& 174,166
NEHZZAE X 22 5,123,000& 5,123
402 RI2EA=20| A 37,700 4,800 32,900
= 16,450
Al 10,625
- 10,625
03 212t Er AL HI 37,700 4,800 32,900
NEOHOIEZAE JHE 28I 4,800,000 4,800
Al 2,400
- 2,400
NEEA JIXMH X3 32,900,000& 32,900
= 16,450
Al 8,225
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2XI=E=2 = R~ ) ==
28 2 HA=2X S (AIEXN/EE - IELHY)
BAE Jisds (2 &HH)
CEN L EE B (BH) - NEAY - B Ol At o ﬁlgﬁ HRE2
- 8,225
405 XHAHF S HI 44,000 28,000 16,000
01 AL 2 ZF S| 44,000 28,000 16,000
NREH2I0IE WIHWF 04
400,000 5504 &~ 22,000
NREHZI0IE ZHI DM (11IHA)
2,000,000 1100 & 22,000
el old ¢ X& 50,426 0 50,426
201 et | 50,426 0 50,426
01 AF 2t 2| bl 50,426 0 50,426
1) B2 H| 50,426
2)0ls& otA3 7002 1000 *5,692H 39,844
2)nzee grA3 7002 = 50H*1,514H 5,299
2Q)E=ASH(E=MAM) 5,8702 % 6J0*15004 A 5,283
220 E &= 1,200 1,200 0
203 €2 F=&d| 1,200 1,200 0
03 Al ZH =X 2= XIH| 1,200 1,200 0
N2ZYORJT HEYL 27
100,000 x12& 1,200
RES2FHE0IE A= 850,000 0 850,000
401 AlEHIZL 2 0HY| 850,000 0 850,000
01 Al&H| 850,000 0 850,000
NRE2FTH2A0IE HAAM= 850,000,000& 850,000
MZUS=s0H =4 440,172 0 440,172
307 QI2t0| & 140,172 0 140,172
05 QIZtREZ 140,172 0 140,172
NMZLS=s0IH 29 140,172,000 140,172
401 AlEHIZL 201 Y| 300,000 0 300,000
01 Al&H| 300,000 0 300,000
1)SHs 08 2 Ak 300,000,000& 300,000
SOEZSXNHAH 29 A (HOIX) 1,047,662 884,769 162,893
Al 171,920
- 875,742
203 € R F & 1,200 1,200 0
03 AIEH =X H 2 F X Y| 1,200 1,200 0
NS XNKAMEH 29 22X
100,000 x12& 1,200
307 2iz2to| A 1,031,952 883,569 148,383
Al 171,920
- 860,032
05 QIZ2tRE 2 991,532 847,569 143,963
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a3z SRIEZ M 6EFY
Ha: 28 o 042X SA(ASSX/ES - HEL0L)
el EFAE JsdE (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
NROISERNJME 22 888,834,000 888,834
Al 131,500
= 757,334
DROIIIE Lirel BUHATHR 29
102,698,000 102,698
11T M3 SXAISEEX 40,420 36,000 4,420
Nealsd 2| 40,420,000 40,420
Al 40,420
405 XHobF S HI 14,510 0 14,510
01 HatL ESFH S 14,510 0 14,510
NAEH L L2ZTEAN F0H 14,510,000& 14,510
SHSSNIHEH SEF2WSAY X2 40,000 0 40,000
2 8,000
Al 16,000
T 16,000
307 glz2+ol & 40,000 0 40,000
= 8,000
Al 16,000
T 16,000
11T MISXASEX 40,000 0 40,000
NEOISERNFHEH ZERLI2WIAY X
40,000,000& 40,000
= 8,000
Al 16,000
T 16,000
MEHZISOIRI0N 2Y 100,000 106, 150 ~6,150
Al 80,000
T 20,000
307 glz2tol & 100,000 106, 150 N6,150
Al 80,000
T 20,000
05 212t E = 100,000 106, 150 A6,150
NHEHESIHEI0IE 2 100,000, 000& 100,000
Al 80,000
- 20,000
gesote 29 38,532 31,330 7,202
Al 19,266
- 19,266
307 21201 A 38,532 31,330 7,202
Al 19,266
- 19,266
05 RIZt2IEt = 38,532 31,330 7,202
1)er2i 32,136,000 32,136
Al 16,068
T 16,068
1)AF HI 6,396,000 6,396
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AR =XER SN HEIED
Ha: 28 o 042X SA(ASSX/ES - HEL0L)
S9: BRAIM )52 (B9 ®R)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Ei HR=2
Al 3,198
- 3,198
gelel ol 249 4,266 0 4,266
201 gBt2A | 4,266 0 4,266
01 AP 22| H| 4,266 0 4,266
1A A S 100, 000& »2H 200
NAaEAN HE 7,000 *38JH 2~ 266
1) ME 100, 000& 384 A 3,800
HEl 0| ortd2e ME2ERAA 2N 36,190 35,960 230
Al 18,095
- 18,095
307 2iz2to| A 36,190 35,960 230
Al 18,095
- 18,095
05 QIZ2tR E 2 36,190 35,960 230
1)el A | 25,790,000 25,790
Al 12,895
- 12,895
1)AFS HI 10,400,000& 10,400
Al 5,200
- 5,200
BXd ¢ s UsS 61,542,693 67,604,302 N6,061,609
= 14,160,091
Al 34,259,063
- 13,123,539
s 3,979,231 4,496,000 N516,769
= 1,790,654
Al 1,532,004
- 656,573
301 et A= 3,979,231 4,496,000 A516,769
= 1,790,654
Al 1,532,004
- 656,573
01 AISIE & A 452 3,979,231 4,496,000 A516,769
Nt ds== 3,979,231,000& 3,979,231
= 1,790,654
Al 1,532,004
5 656,573
CsaM B2Z224A A 919,600 1,214,678 A 295,078
Al 729,125
- 190,475
201 gEt24Hy| 1,000 15,000 A 14,000
Al 500
- 500
01 AP 22| d| 1,000 15,000 A 14,000
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Mmoo iz
40 5 4
HL HD Ui

XotE=
2 2 od=Xx 8|
SN & MM S

>
toi
Ju
b
H
B )

M 6EFY

-IHEY0Y)

SN -FH-SA(BA) - HRAY - B 0l &t o8 il HlnE2
AEEEEEEE RPN
100,000& »12H x63| 7,200
203 PR =&l 4,050 4,050 0
03 Al =X A2 =X 4,050 4,050 0
NESXH d2Fd 150,000& »12& 1,800
0E0IE 8% D] ¥ A3
10,000& »135H 1,350
NESIHARAS 29 150, 000& *62l 900
307 21201 A 1,190,520 1,260,000 269,480
11T ALS S XALEE = 1,190,520 1,260,000 269,480
NESUA SesH 435,600
2)HMEE od 70,0003 «270H «128 226,800
)7y, AF o VEES
30,0003 +580H 122 208,800
NESWUINA 2544 50,0003 580 * 13| 29,000
N2 E & 0l & H oIl 252,600
2)409! 0O & 350, 0003 *200H A 12 84,000
2)2121~39¢! 300,000 x1690 2 x 128 57,600
2)202! 0l &t 250,000& *37J4 A 122 111,000
Nso F&d SAad X
5,000&+2,500H 123 150,000
1) or2tA | 242,400
2)HIAE2E oHeolE 8,000&+1,100H 123 105,600
2)78 ¥ N2 oglolE
6,000&+1,900H 123 136,800
NFEAHS0IE ISl
1,500,000 204 A+ 12 36,000
NoFZtAZE 0f8lol cheryl X
100,000& *710H & 4 & 28,400
U HEE o Hitghyl X 16,520
2)2121 0l & 110,000 *44 04 2 x2 & 9,680
2)209! 0l &t 90,0003 38K A x2& 6,840
RIOIY 2YXE 2,599,959 2,491,713 108,246
Al 1,696,626
T 903,333
307 glz2tol & 2,599,959 2,491,713 108,246
Al 1,696,626
- 903,333
11 ASI S RASEE = 2,599,959 2,491,713 108,246
1)gotet 29l 571,450,000& 571,450
Al 285,725
- 285,725
NHAS &8 S 14,171,000& 14,171
Al 14,171
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Az FRESF PN HEEIY
M B8 L HEsX S (MIESN/ES - IIFLNHY)
Sl SN Y HEL U2 CERED
R.RN-ZE-E(HH) - HRAY - BES Ol &k o il Hl D = 2t
NESE Y XA (EH) 77,332,000 77,332
Al 38,666
- 38,666
NESZS W XA (YL 1,929,806,000& 1,929,806
Al 1,350,864
- 578,942
NHsI=e 7,200,000 7,200
Al 7,200
Helold EsudA HHMA X2 2,549,210 2,549,210 0
Al 1,274,605
- 1,274,605
307 glz2tol & 2,549,210 2,549,210 0
Al 1,274,605
- 1,274,605
11T AISI S XA E X 2,549,210 2,549,210 0
ISRl RN 2,369,580
)78 U NSHEORIO0IE A
234,000,000 234,000
Al 117,000
= 117,000
)78 U ANSHOROT SFDA
1,125,780,000& 1,125,780
Al 562,890
- 562,890
2)BIM28 080l 2 WA 888,000,000& 888,000
Al 444,000
- 444,000
2)8 24001014 oelold Zela
121,800,000 121,800
Al 60,900
- 60,900
NEKWAF SAH 174,412 ,000& 174,412
Al 87,206
- 87,206
NES+NE sS4 5,218,000 5,218
Al 2,609
- 2,609
SIJI&8FI 29 K& 232,414 240,340 NT,926
Al 162,689
- 69,725
307 2Iz2tol ™ 232,414 240,340 ANT,926
Al 162,689
- 69,725
11T ASISAASEE X 232,414 240,340 ANT,926
N3IJ1FEI 2Z4 X 232,414,000& 232,414
Al 162,689
- 69,725
S3Es Mg 29 X2 2,609,796 3,349,564 AT39,768
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AR =2XIIE= SN OIS D
H: B8 2 HEEXN S (MI=EX/ES - HELAHA)
Sl SN Y HEL U2 CERED
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
Al 1,820,271
T 789,525
307 glz2tol & 2,609,796 3,349,564 AT39,768
Al 1,820,271
T 789,525
11T M SXASEEX 2,609,796 3,349,564 AT739,768
NA2E0eod 29 X 2,576,866
2)01 24| 2,004,851,0008! 2,004,851
Al 1,403,396
T 601,455
2)2gtl 572,015,000& 572,015
Al 400,410
- 171,605
NUSsseoeody 2ZNA 14,400,000& 14,400
Al 7,200
- 7,200
1)24A12t - H2 - HEHOZOIE 2 X &
18,530,000& 18,530
Al 9,265
T 9,265
fUS0HEI0E 2SR 37,200 37,200 0
Al 18,600
- 18,600
307 gl2tol & 37,200 37,200 0
Al 18,600
- 18,600
11T M SXALSE EX 37,200 37,200 0
NeEE Helolsy 22| 27,600,000& 27,600
Al 13,800
- 13,800
IDESR==pl RN 2,400,000 2,400
Al 1,200
- 1,200
NEZTWAISY 7,200,000& 7,200
Al 3,600
- 3,600
ZoHOotSEAHEOIE XA 90,288 95,564 A5,276
Al 45,144
2 45,144
307 glz2+ol & 90,288 95,564 N5,276
Al 45,144
2 45,144
11T MISXASER 90,288 95,564 A5,276
DNt W 2Hl S 37,848,000 37,848
Al 18,924
- 18,924
NEMHOINAZZ2 Y 52,440,000 52,440
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=052 R
28 2 HA=2X SE (A3 -IIEYHA)
B L HAsd 2 (2 &HH)
- _ _ RE]
SA - B .G () - NEAY - BES %Eﬁ HR=2
Al 26,220
- 26,220
SFels 29| 2,712,808 2,829,200 A 116,392
Al 2,712,808
307 2Iz2to| & 2,712,808 2,829,200 A 116,392
Al 2,712,808
11 Al EXAIE B 2,712,808 2,829,200 A 116,392
1) BF3~5All 2,712,808,000& 2,712,808
Al 2,712,808
2E MNHENEO0E 255,752 255,200 552
307 2iz2to| A 255,752 255,200 552
05 QIZ2t®| & 255,752 255,200 552
1)el A H| 244,092
2)2 & 2,900,0008 x1H x12& 34,800
2)H 0k A 2,080,000 x62 x12& 149,760
2)S OFEH 1 A} 937,000 2% x12& 22,488
2)Xegl & 2,190,000 x 128 x12& 26,280
2Q)EE 20| 897,000& x1H x12& 10,764
29| 11,660
2)E S WAL SAH| 25,000 x9H x12& 2,700
2)Al & S Xl 700,000 x53] 3,500
2)elst=H| 2 50,000& *»30H 1,500
2)9 K0t 2HAH| 6,000 x55H 128 3,960
dHESAHHA 89 172,600 257,860 N 85,260
= 86,300
Al 43,150
- 43,150
307 2iz2to| & 172,600 257,860 N 85,260
= 86,300
Al 43,150
- 43,150
11T AISIEXAIEEX 172,600 257,860 N 85,260
NAIZLH B2 (212 2
,600,000& 172,600
= 86,300
Al 43,150
- 43,150
FESEAHIA 2 12,197,980 11,410,580 787,400
= 2,799,088
Al 6,837,317
- 2,561,575
307 2iz2to| & 12,197,980 11,410,580 787,400
= 2,799,088
Al 6,837,317
- 2,561,575




AEHE VB SN OEIED
H: B8 2 HEEXN S (MI=EX/ES - HELAHA)
Sl SN Y HEL U2 CERED
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
11 AISI S XA E = 12,197,980 11,410,580 787,400
NESSEMEA 2SDAY AL (2 DX
A4) 9,330,294,000& 9,330,294
= 2,799,088
Al 4,571,845
= 1,959,361
NESSEHEA SISO AH (2 DO/
2AE) 2,867,686,000& 2,867,686
Al 2,265,472
T 602,214
BSEE SAL AAB(BEXZ AN & AFES WA 1,839,233 2,161,503 A 322,270
2 551,770
Al 901,224
T 386,239
307 glz2tol & 1,839,233 2,161,503 A 322,270
2 551,770
Al 901,224
- 386,239
11 AISI S XA E = 1,839,233 2,161,503 A 322,270
NEZ WA 2148 1,199,510,000& 1,199,510
= 359,853
Al 587,760
- 251,897
NHEB S WA 21244 639,723,000 639,723
2 191,917
Al 313,464
- 134,342
ESES AN AAV(BEZ UM € ESE201) 1,626,984 1,476,288 150,696
Al 813,492
- 813,492
307 gl2tol & 1,626,984 1,476,288 150,696
Al 813,492
- 813,492
11 AISI S XA E = 1,626,984 1,476,288 150,696
1NEXZ WA 212 Y| 703,656,000 703,656
Al 351,828
- 351,828
NEST 201 o2l 923,328,000 923,328
Al 461,664
- 461,664
CHXI WA Q1 2AH| XI& 216,216 164,340 51,876
= 64,865
Al 105,946
- 45,405
307 21201 A 216,216 164,340 51,876
= 64,865
Al 105,946
- 45,405
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AR =2XIIE= SN OIS D
H: B8 2 HEEXN S (MI=EX/ES - HELAHA)
Sl SN Y HEL U2 CERED
- _ — d =
SN P SAGEH) - HRAY - BYS 0l &k o4 e HlnE2
11T M SRASE EX 216,216 164,340 51,876
DM A o1 24H] XI& 216,216,000& 216,216
= 64,865
Al 105,946
- 45,405
g WAL X &HI 1,923,506 1,923,506 0
= 577,052
Al 942,518
T 403,936
307 21201 A 1,923,506 1,923,506 0
= 577,052
Al 942,518
T 403,936
11T M3 SRASEEX 1,923,506 1,923,506 0
1N WA XA 1,863,506, 000& 1,863,506
= 559,052
Al 913,118
T 391,336
NWAZEJAE X 2bl 60,000,000 60,000
= 18,000
Al 29,400
- 12,600
2H 0 KElold M7l 79,792 55,577 24,215
= 23,938
Al 39,098
T 16,756
307 21201 A 79,792 55,577 24,215
= 23,938
Al 39,098
T 16,756
11T MISAASEX 79,792 55,577 24,215
NeZEIIENHE0lE B2 X
79,792,000& 79,792
= 23,938
Al 39,098
- 16,756
= =H| 16,800 19,300 A 2,500
= 5,040
Al 8,232
T 3,528
307 glz2+ol & 16,800 19,300 A2,500
= 5,040
Al 8,232
T 3,528
11T MISAASEX 16,800 19,300 A 2,500
NUHE0IE SAL ExUS(ZHAY)
16,800, 000& 16,800
= 5,040
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AR E2XI0IE=2 = R~ ) ==
Ha: 28 o 042X SU(AMSSX/ES - HEL0L)
Sl SN Y HEL U2 CERED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Ei HR=2
Al 8,232
- 3,528
IROIEEE 18,347,369 22,217,777 N 3,870,408
= 8,256,316
Al 7,063,737
- 3,027,316
307 2Iz2t0| & 18,347,369 22,217,777 N 3,870,408
= 8,256,316
Al 7,063,737
- 3,027,316
11T A EXAIEEX 18,347,369 22,217,777 N 3,870,408
NaggtEEa 18,347,369, 000 18,347,369
= 8,256,316
Al 7,063,737
- 3,027,316
Sy BEx2 7,496,568 8,468,685 N972,117
Al 7,496,568
307 giztol A 7,496,568 8,468,685 N972,117
Al 7,496,568
11T A EXAIEEX 7,496,568 8,468,685 N972,117
1)BI3~5M EE2 7,496,568,000& 7,496,568
Al 7,496,568
gsE B2 16,931 27,643 N 10,712
Al 13,375
- 3,556
307 212t0| & 16,931 27,643 A 10,712
Al 13,375
- 3,556
11 A EXAIEE X 16,931 27,643 N 10,712
NS 282 16,931,000 16,931
Al 13,375
- 3,556
28 ILHEHY 29 (4olXl) 10,836 11,224 A\ 388
= 5,068
Al 2,534
- 3,234
201 LBt ]| 10,336 10,724 A\ 388
= 5,068
Al 2,534
- 2,734
01 AP 22| H| 10,110 10,390 A 280
1) Bt424| 200
QANREE L AMNEZS N 200,000& 200
Negdsy 9,910
Q)22 LIHEY 294G 9,910
NNE ¢ 50,000 10X 500
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SXHER SA LIS
22 2 od=X ST (MI=EX/ES - HFL0Y)
AHOl BH H=E M FA CER-ED
CRA - EH - ERA(E) - ARAY - BAS of 4 o4 il HI RS2
2)2 g 338,080,000& 338,080
= 38,304
Al 130,736
- 169,040
2)S M 40,820,000& 40,820
Al 20,410
- 20,410
)EH ¢ 9,341,000& 9,341
Al 9,341
2)EXNEQE 1,330,000& 1,330
Al 1,330
)28 & AKX 5,000, 000& 5,000
09 HES 5,000 5,000 0
01 SAL- SHBYEES 5,000 5,000 0
DALINE - G2SNEXAHE &bl
5,000, 000& 5,000
rEgg2ds XNE AL 164,860 149,960 14,900
= 72,430
Al 48,215
- 44,215
307 glztol & 164,860 149,960 14,900
= 72,430
Al 48,215
- 44,215
05 QI2tRIE = 164,860 149,960 14,900
NitEA2As N ALY 144,860,000 144,860
= 72,430
Al 36,215
- 36,215
NEAMKL MM+ 16,000,000 16,000
Al 8,000
- 8,000
Nx=8+¢ 4,000,000& 4,000
Al 4,000
JbEstn 2% (4eN) 49,286 49,286 0
Al 44,286
T 5,000
307 212t0l & 49,286 49,286 0
Al 44,286
T 5,000
05 It E = 49,286 49,286 0
Nelddl & SAX ¢ 30,486,000 30,486
Al 30,486
AL HI 18,800,000& 18,800
Al 13,800
T 5,000
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AR =2XIIE= SN OIS D
H: B8 2 HEEXN S (MI=EX/ES - HELAHA)
ool M0l BN H=E HM =X CER-ED
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
100t XN3dH 24 80,000 64,000 16,000
Al 40,000
- 40,000
307 gl2tol & 80,000 64,000 16,000
Al 40,000
- 40,000
05 BIZHRI & 3 80,000 64,000 16,000
e XNJAHH 29 80,000,000& 80,000
Al 40,000
- 40,000
OtolE&8 X2 AL (4 elXl) 1,971,556 2,044,169 AT2,613
= 591,330
Al 689,885
T 690,341
203 YR =&l 456 456 0
03 AIMF=AH S =AY 456 456 0
1NOol0IE8 XA 2FA 456,000& 456
307 21201 A 1,971,100 2,043,713 AT2,613
2 591,330
Al 689,885
- 689,885
11T AL SXAIEE = 1,971,100 2,043,713 AT2,613
1otolE8 X & At 1,971,100, 000& 1,971,100
= 591,330
Al 689,885
T 689,885
SEMFI=E L SRE2IESXE ALY 62,772 62,772 0
Al 58,146
- 4,626
307 glz2tol & 62,772 62,772 0
Al 58,146
- 4,626
11T M Z2XAS EX 62,772 62,772 0
NELHMESEIN4Y 2 FRRISA
53,520,000& 53,520
Al 53,520
NEMMGHMRMHL=E 9,252,000& 9,252
Al 4,626
- 4,626
SIRRILE X2 A 37,200 51,000 A 13,800
301 LA F 37,200 51,000 A 13,800
01 MEIBEE 2053 37,200 51,000 A 13,800
DHASSSRIE HFA23
30,0003 620 Al CH x23 37,200
s Sus ¥ 42 YU (FUE) 20,000 0 20,000
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AEHE VB SN OEIED
H: B8 2 HEEXN S (MI=EX/ES - HELAHA)
CHelr MO0l BN B=E MM EZ CER-ED
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
201 Le-2d| 20,000 0 20,000
03 A2 Z Hl 20,000 0 20,000
NZAZ 360,000& x503] 18,000
IEEE M 1,000,000 1,000
NHAI2 S 1,000, 000& 1,000
2=l MEIHA 23t 840,568 773,066 67,502
| 145,657
Al 626,111
T 68,800
=S HLUXNME 2S (42X 217,380 197,692 19,688
Al 214,980
T 2,400
201 LB-2d| 135,680 134,692 988
Al 135,680
01 At 2t 2l 86,340 86,840 A 500
et =Y 11,420
2)Jl2 MNRSEEH 400,000& 123 4,800
Al 4,800
2)E22 WX 2,000,000& 2,000
Al 2,000
2)R0AH AES 85,000& +12& 1,020
Al 1,020
2)eclnd Jl2MZyl 300,000& x123] 3,600
Al 3,600
negsg 1,000
2)FAs EHg 100,000& 10 1,000
Al 1,000
gz 6,160,000& x12& 73,920
Al 73,920
02 3323l 34,340 34,852 AB12
Na3e=2 ¢ dA 33,340
2)2 el 2,000,000& x12& 24,000
Al 24,000
2)dIIea2 S 700,000& x12& 8,400
Al 8,400
2)83 3 9,000&+12& 108
Al 108
2)HOIETV =4l 11,0002 =128 132
Al 132
)M, S MEEZ 700,000& 700
Al 700
DAIE &H S X 1,000
2)N &KX 22 1,000,000& 1,000
Al 1,000
03 A2 S HI 15,000 13,000 2,000
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a2 =SXNE2 SN OEIED
H: B8 2 HEEXN S (MI=EX/ES - HELAHA)
Sl 210l MEXH s CERED
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
NesdE S 15,000, 000& 15,000
Al 15,000
203 YR =2t 2,400 2,400 0
03 M BFAHSFZY 2,400 2,400 0
N2 NHdH g2FA
200,000& »12& 2,400
301 LEXF 61,300 58,600 2,700
Al 61,300
12 JIEtE4 3 61,300 58,600 2,700
NEZ208 2AE 51,600
2)8=0 A 50,000& 123 623 37,200
Al 37,200
2)BEHWA 75,0003 x12& +83] 7,200
Al 7,200
2)Qelual 75,0003 123 +83| 7,200
Al 7,200
DIEIZ2 08 2AlE 9,700
)M L H 75,0003 123 +83| 7,200
Al 7,200
2)J| et & 50,000 x4 & »113] 2,200
Al 2,200
)L =R 2% 75,0003 *43] 300
Al 300
405 XHoHF S HI 18,000 2,000 16,000
Al 18,000
01 XL 2 ZFH S| 18,000 2,000 16,000
Net=20ns tES 2 1,800,000& 1,800
Al 1,800
NIFHRA ZFEH LA 900,000& = 18CH 16,200
Al 16,200
ChENEXNHEH 29 265,266 244,598 20,668
J| 58,200
Al 207,066
307 21201 A 265,266 244,598 20,668
J| 58,200
Al 207,066
05 BIZHRIE 3 265,266 244,598 20,668
NUSINESNEHE 2 265,266
2)Jl2a9| 194,000, 000& 194,000
J| 58,200
Al 135,800
2)B AL Kb g 71,266,000 71,266
Al 71,266
Ct23ts SE435tAMY 291,522 270,376 21,146
| 87,457
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AR E2XI0IE=2 = R~ ) ==
HE: BS YU HE=N SH(MASN/ES - HEL0A)
EHe: =20l MEXF 25 (2 &HH)
AR .24 FHH .G (3H) - HEAY - BES Ol At o ﬁlgﬁ HRE2
N 204,065
307 212+0 & 291,502 270,376 21,146
J| 87,457
Al 204,065
05 QIZ2tREF 2 291,522 270,376 21,146
NOUEIIS EHAY 291,522,000 291,522
J| 87,457
Al 204,065
Chest2ael| 2 WERA 25 ¢ 43t 5,400 5,400 0
201 et 9| 4,600 4,600 0
01 AP 2t 2] d| 1,000 1,000 0
Neg4g 1,000
2)201F0l U L2BIIE NAE A 32
A G 100,000& »10H 1,000
02 =224 H| 3,600 3,600 0
12222 2 HA 3,600
Q)2 2SS Al &olal o3|
3,600,000& 3,600
203 €2 F=&d| 800 800 0
03 AIEH =X 2 F X Y| 800 800 0
NOSs 2|2 HERIA s 24
800, 000& 800
Ctest sH 15,000 15,000 0
307 2iz2tol A 15,000 15,000 0
05 QIZ2tRE 2 15,000 15,000 0
NO2EH X 15,000,000& 15,000
A0 231 E 020 U Ot (L&) 15,000 0 15,000
307 QI2t0| & 15,000 0 15,000
11T A EXAIEEX 15,000 0 15,000
1NAL9 UR23IIE 020 U otlte =2
o 24 15,000,000 15,000
C2st 26 =4 =3 31,000 0 31,000
201 LBt | 6,000 0 6,000
01 AP 22| d| 1,000 0 1,000
1) Bt 2| 500
INBEEH (BEMEX S) 500,000 500
DEPS= 500
2) & 20| 2Axt 50,000 10 500
02 2=2=24%H| 5,000 0 5,000
Nale 2283 S 500,000& «10& 5,000
401 AlEHIZ £ 0HY| 15,000 0 15,000
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a2 =SXNE2 SN OEIED
HE: BS YU HE=N SH(MASN/ES - HEL0A)
Sl 210l MEXH s CERED
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
01 A& HI 15,000 0 15,000
NEH =4 22gd 15,000, 000& 15,000
405 TtabF S| 10,000 0 10,000
01 AL EFFH S 10,000 0 10,000
NEH 29 HIE 72 10,000, 000& 10,000
HE2AZUI(HEIr=)(I1EHDIEL) 105,699 108,634 A 2,935
Jl23&dl 105,699 108,634 A2,935
Jl2&l 105,699 108,634 A2,935
201 Let24d] 41,019 45,298 A4,279
01 AP 2teltl 41,019 45,298 24,279
1) Bt =] 3,003
2)J1 2 AR 8 E 4l 7,000 «24 9 « 122 «90% 1,815
2)=2AEX 55,0003 249 «90% 1,188
1=l 38,016
2y RS BE2 3 Y|
8,000 x20 4! x22H x 123 *90% 38,016
202 o4dl 60,480 59,136 1,344
01 = LH o4 1l 60,480 59,136 1,344
N2ge==8 0|
280,000 *24H « 123 x75% 60,480
203 YR =&t 4,200 4,200 0
04 FN2ELRZ=TH| 4,200 4,200 0
NEN2ZYRFEIH 350,000& 12 4,200
HWRES(HHEIHSI)(MBEXN/E] - NHESLAHY) 100,000 102,794 AN2,794
WEHHX S 100,000 0 100,000
AHBSI= 8 100,000 0 100,000
702 JISEES 100,000 0 100,000
0MNII3HEES 100,000 0 100,000
nNe&gE sz 100,000, 000& 100,000
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M ox
40 5 4

SXItE= M 0tsEE Y
Ols - #ad AAEsH L SXIMHIA SA(ME=R/Q
Ol - a4 F0ogs N2 E 8 25

- _ — d =
A SA - SAEA) - MRAY - BES e 2
= 9,600
Al 7,200
T 7,200
11T MISXAS EX 24,000 24,000 0
NasdosgNyg 29 A 24,000,000 24,000
= 9,600
Al 7,200
- 7,200
a4 sotel X 23,750 23,750 0
= 5,500
Al 4,125
- 14,125
307 21201 A 23,750 23,750 0
= 5,500
Al 4,125
- 14,125
11 AL SXAEE = 23,750 23,750 0
NEadEs0otel 22X 550,000 *255 Ot 2l 13,750
= 5,500
Al 4,125
T 4,125
NEadsotel s 24 FOt
10,000, 000& 10,000
BIIS A el (FUEA) 20,000 0 20,000
307 glz2tol & 20,000 0 20,000
11T M SRASE EX 20,000 0 20,000
NEIIS |4 deldiel T2 2¢
20,000,000& 20,000
SHYOHEME MEAS(FAUERN) 20,000 0 20,000
307 21201 A 20,000 0 20,000
11 ALS S XAEE = 20,000 0 20,000
NHLHEME MEAES T2 2Y
20,000,000& 20,000
SUMZ OtS&StS Al Al - 22l 81,000 56,000 25,000
201 Let24d] 59,500 54,500 5,000
01 At 22l 11,000 14,000 A 3,000
1) Bt =] 9,000
2)0 &M R 2 5,000,000& 5,000
2)EEE M 4,000,000& 4,000
neg=s¢ 2,000
DS HHTANENSAE BHLY
100,000& =10 *23| 2,000
02 2324l 5,000 5,000 0
N33 2 HMA 5,000
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a3z SRIEZ PN OtSEEY
FM: Ols - H44d AWERY 2 SXUMHA ST(AMS =X/ - HAH)
el Ots - a3 SAAY 235 (&)
- _ — d =
RRA B BN NRAY - BES 0l &k o4 e HlnE2
Ots+= =0 9,932,000 10,766,841 A 834,841
= 5,959,000
Al 2,781,000
- 1,192,000
301 LEHZ 9,932,000 10,766,841 A 834,841
= 5,959,000
Al 2,781,000
- 1,192,000
01 M2I2EZE+06l= 9,932,000 10,766,841 A 834,841
Nots=<¢=20 9,932,000, 000& 9,932,000
= 5,959,000
Al 2,781,000
- 1,192,000
ZAots 24 & 3,062,540 3,062, 180 360
Al 1,857,000
T 1,205,540
201 Let24E] 1,120 1,120 0
01 At 22l 1,120 1,120 0
negx=g 1,120
2)OISTAAE BHLY
70,0003 »8H 23] 1,120
203 ¥ S =&l 220 220 0
03 Al =AY 2= 220 220 0
NotsZAAR¥S 29 L 22| 110,000& »23! 220
301 LEEAZ 3,061,200 3,060,840 360
Al 1,857,000
- 1,204,200
01 MEIEBEZE+05l= 3,061,200 3,060,840 360
naAos 24 X 3,061,200
2)8J|E BY 6,000 «137& 1,800 1,479,600
Al 739,800
T 739,800
2)31s E. 352 (=)
6,000 «852 1,280 652,800
Al 652,800
2)gEt = 6,000 «862 *1,800HF 928,800
Al 464,400
- 464,400
geis NA 6,000 6,000 0
301 LEBEAZ 6,000 6,000 0
01 MEIBEE 2053 6,000 6,000 0
NYE=s2 N 6,000
2)geiols g 1,000,000& 20t & 2,000
2)Z00ts g 2,000,000& »2Jt & 4,000
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2M 0t d

o
HESH L 2XMHIA ST (AS=X /0 -
=7

= - — SHE|
SA B E(BH) - NN - BYS e Hl D= 2t
SAEME 2 JHERE0ts K& 8,800 8,800 0
301 getEd 3 8,800 8,800 0
01 Ml2ZE 6= 8,800 8,800 0
EE= = NI 50,000& =42 NI CH *33] 6,300
N8 dSHl X2 50,000& 50H 2,500
S MEOHM B E 50,000 50,000 0
201 Let24d] 2,000 3,000 A 1,000
01 At 2teltl 2,000 3,000 21,000
e =y 2,000
2)E22 M (2AEH S) 2,000,000& 2,000
301 LA F 48,000 47,000 1,000
01 MEIBEE 2053 48,000 47,000 1,000
NOISHENMEE It 48,000,000& 48,000
Fad A2 A 72,600 86,037 A13,437
= 21,780
Al 25,410
- 25,410
307 21201 A 72,600 86,037 A 13,437
2 21,780
Al 25,410
- 25,410
11 ALS S RAEE = 72,600 86,037 A 13,437
NHASE (8 A4E ANMEE N
72,600,000 72,600
=2 21,780
Al 25,410
- 25,410
ts=XAE E A 9,020 5,480 3,540
201 Let24d] 7,620 4,080 3,540
01 At 2teltl 7,620 4,080 3,540
1) Bt =] 60
2)0ts=sXads AF5HE S
6,000& = 100H 60
Negs4 7,560
2)0ts=Xaod &Y
70,000 7 »123] 5,880
2)0ISEXAL CHESE B54Y
70,000 «1H » 128 23| 1,680
301 LA F 1,400 1,400 0
01 MEIBEE 253 1,400 1,400 0
NS SAAIE ME0ts 2
10,000& 70K »23| 1,400
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AR =2XIER SN otsEAR
Hu: OlS  HAW AHIH U SNMHIA ST(MISK/C0 - B2E)
@2 0ls ¥ d#HAdE SIS (&2 &)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o ﬁlf& HD=2
ots & 3448 sXSH 174,972 149,655 25,317
= 86,586
Al 86,586
- 1,800
OISSEAHIA NE 2SY(SYAEE) S 174,972 139,655 35,317
2 86.586
Al 86,586
- 1,800
101 @121l 24,420 0 24,420
= 12,060
Al 12,060
- 300
04 JI2ZtH2E2XNEE S 24,420 0 24,420
Nagolsd olge 24,120
2) el A Hl 1,900,000& x9& 17,100
= 8,550
Al 8,550
2)A2Hel =& 200,000& 9 & 1,800
= 900
Al 900
2)04 i 200,000& x9& 1,800
= 900
Al 900
2)2 &l 80,000& x9& 720
= 360
Al 360
2QM4HEE 2 300,000& «9& 2,700
= 1,350
Al 1,350
1)0lS XA X 300
2)SHAI2E W AF A2 H & Y| 30,000& x10¥ 300
201 LEt2 A Y| 70,318 53,970 16,348
= 34,409
Al 34,409
- 1,500
01 AR 22| I 26,718 15,420 11,298
1)L et 2| 20,518
2)N2EEH| 5,000,000& 5,000
= 2,500
Al 2,500
2)EEE MZ 2,000,000& *43| 8,000
= 4,000
Al 4,000
)80 |de2 101,000& = 12& 1,212
=2 606
Al 606
2)MEA ZIIFAD HeE= 25,500& 128 306
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&€ ots & Fad SX5H (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
= 153
Al 153
2)CEAEE 2HET X AL 3,000,0008 *23] 6,000
= 3,000
Al 3,000
9 E K| 2,000
)t 2tel Ab & XIS ALSI S X AL m = H|
200,000& x5H 1,000
= 500
Al 500
MHENUE (AAS) 250,000 x4 H 1,000
= 500
Al 500
negsg 4,200
2)0ts=XJ2EAM A+
100,000& »9H 33 2,700
= 1,350
Al 1,350
2)0tE=SX WA M HAE
100,000& »5H 32 1,500
02 BBl 2,600 2,550 50
NS LHA 600
2)Y2MY ARE AEE 50,000& 123 600
= 300
Al 300
NAIE EZHI KX 2,000
2IN2E SXHIE 2,000,000& 2,000
= 1,000
Al 1,000
03 ALZ2 I 41,000 36,000 5,000
NE= 9458 MHlA 29 41,000,000& 41,000
= 20,500
Al 20,500
202 044l 1,000 1,400 A 400
= 500
Al 500
01 = LH o4 1l 1,000 1,400 A 400
NEBAEE 2D S0t
200,000 x5H 1,000
= 500
Al 500
203 YR =2l 8,000 8,500 A 500
= 4,000
Al 4,000
03 Al =T YR =& 8,000 8,500 A 500
NEYAEIEANY H2FX 6,800,000& 6,800
= 3,400
Al 3,400
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a3z SRIEZ PN OtSEEY
FM: Ols - H44d AWERY 2 SXUMHA ST(AMS =X/ - HAH)
&€ ots & Fad SX5H (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
DAtel2telslo g2F=X 1,200,000 1,200
= 600
Al 600
301 LA F 71,234 75,785 A 4,551
= 35,617
Al 35,617
01 AR 2ZH 53 66,000 65,000 1,000
1ols H2H&, Melad - =t S K&
66,000,000& 66,000
= 33,000
Al 33,000
09 &AL HIXI &3 2,634 6,200 A 3,566
NEHAEIE #A ZS#AH S 2,634,000 2,634
= 1,317
Al 1,317
12JEEd= 2,600 4,585 A1,085
NHHHE ZA= 400,000& *43] 1,600
= 800
Al 800
NXE S AR 2 Sl 1,000, 000& 1,000
= 500
Al 500
HE HM - 235 N (MISX/=S) 1,376,406 1,370,764 5,642
HFEEM My 25t 1,376,406 1,370,764 5,642
FEXEgog 25 12,960 14,260 A 1,300
201 Let24d] 8,760 10,060 A 1,300
01 At 22l 8,760 10,060 A 1,300
1) Bt =] 4,000
2)E2=2 M 2,000& *2,000= 4,000
negsg 4,760
EE™MSAL AN HALY
70,0003 17 x43] 4,760
203 YR =&l 4,200 4,200 0
03 AIMZ=XH R =AH| 4,200 4,200 0
NEEYH 2| d2FA 160,000& » 102 1,600
NEEYUINE 29 AREN
250,000& *43] 1,000
NEHUERND 85 Z2F& 160,0002 103 1,600
HEWY 2 (42X) 362,646 353,404 9,242
201 2et24d] 2,500 2,500 0
02 2324l 2,500 2,500 0
A& &8I R Xl 2,500
2)NE s &eltl 2,500,000& 2,500
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ol i

((Sal

(AR 22X/ S)

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
307 glz2tol & 360, 146 350,904 9,242
05 RIZtR & = 360, 146 350,904 9,242
NEzYd 24 210,146,000& 210,146
1S E A 150,000
2)8EHAHRLIE X& 30,000, 000& 30,000
2)83dZzNE X& 20,000,000& 20,000
2Q)3E =250z X 20,000,000& 20,000
2)34osHdd XE 20,000,000& 20,000
2)FHMEINE XA 20,000,000& 20,000
2)FHENIIE =4 15,000, 000& 15,000
2)2UUAEEHELS 25,000,000& 25,000
=8 dU&EH M= 1,000,800 999,500 1,300
203 YR =&l 800 1,500 A700
03 AIHF=XH S =AH| 800 1,500 AT700
NaAxz8Ads 29 80,000& x 103l 800
401 Al HIZ 2018 1,000,000 998,000 2,000
01 A& HI 1,000,000 475,351 524,649
1A &bl 1,000,000, 000& 1,000,000
HHSS A (OIS D) (JIEHIIE) 252,366 277,820 125,454
= 66,700
Al 66,700
- 118,966
el 2| 173,822 199,895 226,073
= 66,700
Al 66,700
- 40,422
OlSE8AMUlA NA(SHAEE S) 52| 131,375 199,895 268,520
= 50,970
Al 50,970
- 29,435
101 14l 131,375 199,895 A 68,520
= 50,970
Al 50,970
T 29,435
03 RIHAZ 22 = 131,375 199,895 268,520
NotsSSEAtd2tel At el 123,410
2123 80,100
3)74 Xt 2,100,000& x2H x12& 50,400
= 25,200
Al 25,200
3)7EXH(3ME) 2,100,000 =18 «3& 6,300
= 3,150
Al 3,150
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A= =XE2 SN OIS HED
M HE2IZH (OtsSHE D) (JIEH/IIE
Sl ol ) CERED
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
3)34 Xt 1,950,000 x1H x12& 23,400
= 11,700
Al 11,700
2)A 2hRl =& 4,680
3)1200 < 120,000& x3H 123 4,320
2 2,160
Al 2,160
3)3ME 120,000& »1H +33 360
2 180
Al 180
2)EF 0t 3,900
3)1200 & 100,000& 3 122 3,600
2 1,800
Al 1,800
3)3& 100,000 »1H +x3& 300
2 150
Al 150
2)3 gl 1,560
3120 40,0003 x3H 128 1,440
2 720
Al 720
3)3ma 40,0003 x1H «38 120
= 60
Al 60
2)tEs2¢ 5,850
3)1200 € 150,000& 3 122 5,400
3)3m 150,000 »1H +3& 450
2)HZ & &yl 200,000 x4 800
2))ls&ed+< 780
3)124 & 20,0003 x3YH 128 720
3)3ME 20,000 x 1 =32 60
2)NEHEH BT 500,000 x 1 43| 2,000
2)J1E &yl 80,5003 x 10 x4 H 3,220
2)EE FOty| 8,820
3)1200 € 1,260,000 »3H »23| 7,560
3)3m 1,260,000& *1H x 13| 1,260
24N BE =S 11,700
3)1200 € 300,000 x3H 128 10,800
= 5,400
Al 5,400
3)3ME 300,000 »1H »3& 900
= 450
Al 450
DX S A S XA 212 7,965
EACE] 200,0002! * 124 122 2,400
2)tE2¢ 150,000& = 1H 128 1,800
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